e 03laiwl slacl (510 sl : Number o

i 03laiwl Lo 4y (5)lagSs slp @ String @

D gdino 038wl 5 g 000 bhis Slopsio Sl : Boolean e

ol 00505 0315 T 4y ()l 59 Lol Cnol 0 325 yusio Gl 4 el () Ol SUisw : Undefined o

.WIG@QTdtan 9 dg4iaxo ASSIGN (Spusio 4 dS syl Abo 595 Null ol : Null @
J)Sg.,‘.% ‘_',ng y&m‘nb 3o g.,w.ul.wo dsu.l..ol ugl.rb ufyg

R S TVERCL I

..),Stgﬁ»olw«-%)? L$L_L
S / pilszed gl Ola o @
0K = psilgiass puol Glio s> @

S ealawl o 95y SledS 5l lgies @

339 gdie 0315 yuio o 1y Ll sl l & Jol > 55 oS sl Mutate g Coercion Sk 95 Cw Sl lgl> 5o

! S0 it (gl pd il

firstName = 'John';

age=28;

console.log(firstName +' ' + age);
job, isMarried;

job ='"teacher;

isMarried =

console.log(firstName +'isa ' +age+'yearold ' +job +". Is he married?' + isMarried);

age = 'twenty eight’;
job ='driver’;
alert(firstName + "is a '+ age + 'year old '+ job + . Is he married? ' +
isMarried);
lastName = prompt('What is his last Name?');

console.log(firstName +' ' + lastName);
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var firstName = 'John';

var age = 20;
if (age < 13){

console.log(firstName + 'is a boy.");
}else if (age >=13 && age < 20) {
console.log(firstName + ' is a teenager.');
}else if (age >= 20 && age < 30) {
console.log(firstName + ' is a young man.');
Yelse{

console.log(firstName + 'is a man.");
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var job ='instructor’;
switch (job) {
case 'teacher":
case 'instructor':
console.log(firstName + ' teaches kids how to code.");
break;
case 'driver":
console.log(firstName + ' drives an uber in Lisbon.');
break;
case 'designer’:
console.log(firstName + ' designs beautiful websites.');
break;
default:

console.log(firstName + ' does something else.");
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age = 56;
switch (true) {
case age < 13:
console. log(firstName +'is a boy.");
break;

case age >= 13 && age < 20:

console.log(firstName +'is a teenager.');

break;

case age >= 20 && age < 30:
console.log(firstName +'is a young man.");
break;

default:

console.log(firstName + 'is a man.");
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if("1"==1)

console.log("i'm here")

.dgiso uL>- I'm here ,lid0 Jy.ms X ‘o.wugu ly ol u"99 Mo
oled b don't try yourself Juol 4 13, Joe slp function affxtsl.xfo Oygeo 0l 3 Al Ll function ‘a%.c'm L ‘a)lg.xﬁol

: ‘oe,)b &eU @ y=i 9 4w dgdio oslawl DRY

s ol UK ol @ 9 MygSee function declaration ol 4 oS Jo! &

calculateAge(birthYear) {

return 2018 - birthYear;

t Gl 3 IS5 @ 9 MygSao function expression ol 4 aS P9 g9

whatDoYouDo = (job, firstName) {
switch(job) {

case 'teacher”:

return firstName + ' teaches kids how to code’;
case 'driver":

return firstName + ' drives a cab in Lisbon.'
case 'designer’:

return firstName + ' designs beautiful websites';

default:

return firstName + ' does something else’;
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var names =['John', 'Mark', 'Jane'l;

var years = new Array(1990, 1969, 1948);
console.log(names[2]);
console.log(names. length);

var array = new Array() ;

console.log(array)

names[1] ='Ben’;
names[names.length] = 'Mary';
console.log(names);

names[7] = 'cristian’
console.log(names[6])
names.push(‘'mahdi');
console.log(names.pop())
names.pop()

console.log(names)

var john =['John', 'Smith', 1990, 'designer’, falsel;
john.push('blue’);
john.unshift('Mr.");

console.log(john);

console.log(john);
console.log(john.indexOf(23));

var isDesigner = john.indexOf('designer') === -1 2 'John is NOT a designer' : 'John IS a designer’;

console.log(isDesigner);
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john={
firstName: 'John',
lastName: 'Smith’,
birthYear: 1990,
family: ['Jane', 'Mark', 'Bob', '"Emily'],
job: 'teacher’,
isMarried:
%
console.log(john.firstName);
console.log(johnl'lastName']);
x = 'birthYear';
console.log(john[x]);
john.job ="designer’;
john['isMarried'] =

console.log(john);

jane = Object();

jane.firstName = 'Jane’;

jane.birthYear=1969;

jane['lastName'] = 'Smith’;

console.log(jane);
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var john ={
firstName: 'John',
lastName: 'Smith’,
birthYear: 1992,
family: ['Jane', 'Mark', 'Bob’, '"Emily'],
job: 'teacher’,
isMarried: false,
calcAge: function() {
this.age = 2018 - this.birthYear;

console.log(john);
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var john =['John', 'Smith', 1990, 'designer’, false, 'blue'l;
for (vari=0; i < john.length; i++) {

console.log(johnlil);

vari=0;
while(i < john.length) {
console.log(johnlil);

i++;

var john =['John', 'Smith', 1990, 'designer’, false, 'blue'l;
for (vari=0; i< john.length; i++) {
if (typeof johnli] !=="string') continue;
console.log(johnlil);
}
for (vari=0; i< john.length; i++) {
if (typeof johnli] !=="string') break;

console.log(johnlil);
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i=john.length - 1; i>=0; i--) {

.log(johnlil);
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